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South East Central Railway
W Hrafad, Divisional Office,
Pifde ﬁ"-{T'T Personnel Department,
ﬁﬂ"\q% ANTYY, Kingsway, Nagpur-440001

No. P/NAG/CON/2024/21(e-159197)/03 Date:- 11.11.2024

To,
All Concerned,
S.E.C. Railway, Nagpur.

Sub:- Publication of answer key of written examination conducted on 09.11.2024 for selection to
the post of Junior Engneer (TRD) in Pay Matrix Level-6 against 25% DPQ of the

Electrical Department of TRD wing.
kkckkkkkkkk

In connection to this office Notification No. 69/2024, dated 23.08.2024, the written exammation
for selection to fill up 04 (UR-02, SC-02, ST-00) vacancies of Junior Engineer (TRD) in Pay Matrix
Level-6 against 25% DPQ of the Electrical Department of TRD wing has been conducted on
09.11.2024. ,

As per extent provisions, Answer key of the aforesaid examination is hereby published for
information. However, candidates may also download the answer key from the official SECR website Le.
secr.indianrailways.gov.in>Dept/Div of SECR>Division>Nagpur> Personnel>Answer Key.

Further, candidates are advised, if require submit representations against the questions paper and
answer key alongwith supportive proof/documents within 03 (Three) working days ie. 18.00 hrs of
14.11.2024 m the office of the StDPO/SECR/NAG in the prescribed proforma (copy enclosed of
Annexure-1). Representations will not be considered after 14.11.2024. If no representations are
received n the specified period, it will be assumed that the concerned staff has no objection with the
question paper & answer key for the instant selection.

Encl-
1. Annexure-1 2
2. Answer Key of exam dtd. 09.11.2024. : ) \\\\

3. Question Paper of exam dtd. 09.11.2024.
(Swetha\HK Chhoriya)

Divisional Personnel Officer,
Jfor St.D PO/SECR/NAG

Copy to:- Ch.OS/Cadre-11 of Personnel Department for information and it is advised to publish it widely

amongst concerned staff
M/,//m

Jor Sr. DPO/SECR/N GP
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Proforma for submitting representation against the question(s)/answer(s)

Q. No.

Answer as per
model answer key

Answer  as
per candidate

Brief remarks along with relevant rules supporting
the claim

Signature of the candidate




Answer key of Examination held on 09.11.2024 for selection for the post
of JE - TRD in Pay Matrix Level-6 against DPQ in Electrical (TRD)
department of Nagpur Division
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TR f&Fdiva & safecea (TRD) UM & DPo & Raemw 3 Afc d9d -
6 H JE-TRD & UG & forw wua & forw uy w3

Question paper for selection for the post of JE - TRD in Pay Matrix Level-6
against DPQ in Electrical (TRD) department of Nagpur Division

Date of exam — 09.11.2024 e &1 fafd - 09.11.2024
Total marks - 100 $d 3H- 100
Max. Time - 2 hours fYpad. IHY- 2 °e

B'ﬂiﬂaﬂﬂ g ﬁl'l'{ ﬁi’QT / Instruction for the candidate

1.SYUH U H 110 UY § 3R IfieaR} & Had 100 U4l BT IR 1 2; i IFear 100 9
31 Ui BT IR S &, A T8 100 BT Hed i T SITE|

This question paper contains 110 questions and the Candidates have to answer 100 questions
only; if candidates answer more than 100 questions, then first 100 will be evaluated.

2. gt Uy & forT I 3ih § (@ Udd Uy & T 1 3i)

All the questions carry equal marks (i.e. 1 marks for each question)

3. e mfd &t R

There is no negative marking.

4. 3T SR B} Txamvur  farxt +ft faximifar & wmer o, St 1T Teasor a1 31 arat g |
In case of any discrepancy in English and Hindi version, the meaning of English version shall
prevail.

5. SWIEAR! P Utel BT B 0= MaTSd WIH/AoR/bagp e/ e gfSal/aT a1 drs 3
EATol/B TSI G- B1 AT T8l 3|

The candidates are not allowed to keep mobile phones/pagers/calculators/smart watches/bags
or any other documents/papers with them in the examination hall.

6. Tfc DIs SHIGAR SIfad T a1 fodlt 3 e wre § fod TR S g, df S W
YA T TR W & IR SR & d8d HIRATS &I oleih |

If any candidate is found indulged in copying or any other unfair means, then he/she would be
taken up under DAR as per Railway Service conduct rule.

7. IFGAR TRIeT THY P R TR g T8 B Thd |
The candidate can’t leave the examination centre during the examination hours.

8. STHIGAR! B! FURIad G BT W&t H U BT ANV
Candidates should strictly follow the above instructions.

Page 1 of 19



Y / Questions

Q1. ACTM T Gol HIH FTE -

(i) THY &oF Hef3rer (ii) T SRRAT HfaTel
(iif) TY ¢ftheh Hefarer (iv) T Efear HAeparer
What is the Full form of ACTM ?

(i) AC Train Manual (ii) AC Traction Manual
(iii) AC Traffic Manual (iv) AC Training Manual

Q2. 3H X W, fasrelt 3mfct afarat & fosrel 3cdmgst 3R aRwor yorrel F#=2rg -

(i) Tehol TROT (i) araxor
(iii) YeT TOT (iv) oYel TROT 3R desr ar

Normally, what is power generation & transmission system of the power supply companies -
(i) Single phase (i) Two phase
(iii) Three phase (iv) Three phase & neutral wire

Q3. OHE &1 HaH BIeT @3, [ord TPC gaRT RAIE sheld & SIRT 3gdTele 731 ST Jehar & -

(i) TR 3FgaraT (i) IS FAT
(iii)) AFeX (iv) 99 JF
The shortest section of OHE, which can be isolated through remote control by TPC is called.

(i) Elementary section (ii) Feeding zone
(iii) Sector (iv) Sub sector

Q4. gAY o AT & HaTfard fana ST Fehar & -

Qs.

(i) RAT HraT (ii) ErTETH ORI GaRT TUTAT Ao &
(iii) HegHT TT & (iv) SORIFT Tafr

Isolators can be operated through -

(i) Remote control (ii) Local control by TSS operator

(iii) Manually (iv) All of the above

SeXYE T JolelT  HNelY oh HET o1 AT -
(i) RATE STl garT gueh (i) SH IWEIETT
(iii) ITSTT BYeY IR 319 31T Giehe T SHTaT (iv) 3T gt

What is the main advantage of CB over interrupter -
(i) Isolate by remote control (ii) Less maintenance
(iii) Automatic trip the circuit when fault occurred  (iv) All of the above
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Q6. U TS & ToIT 3NTTS TIAAT3T T TEAT Tolc T glair AR T -

(i) 75/12,75/13, 75/14, - 3nfel (i) 75/ 12A, 75/ 13A, 75/ 14A, - el
(iii) 75/13, 75/15, 75/17, - 3mfe| (iv) 75/ 13A, 75/ 15A, 75/ 17A, - i

What should be the number plate of OHE structures for UP line -
(i) 75/12, 75/13, 75/14, ------ etc. (i) 75/12A, 75/13A, 75/14A, --—---- etc.
(iii) 75/13, 75/15, 75/17, ------ etc. (iv) 75/13A, 75/15A, 75/17A, ------ etc.

Q7. &1 oI TS I3 o Sf1er shT gl T AT gl STl &

(i) TATT TS (ii) T TS (iii) SehFsieq (iv) IR

What is the Distance between two consecutive OHE structures called -
(i) Tension length (ii) Span length (iii) Encumbrance (iv) Stagger

Q8. THT SFAA H IHTARAH EAT AT FATE

Qs.

(i) 1500 Hrex (i) 1600 FHeX (iii) 1000 FHex (iv) 750 Hex

What is Maximum tension length in AC traction -
(i) 1500 m (ii) 1600 m (iii ) 2000 m (iv) 750 m

FIT AT T SIS (Sl ood) & 3T #, Teh HIaold Tl & -
(i) faegd Felry ST W= & faT|

(ii) HohToAhol FATILH FTU {W=1 & folT

(i) HehfeTohol 3R SelfFcahel FllTLH TATT TG & [IT|

(iv) YT & TIT Garer AT geTel e

Why at the end of tension length, an overlap is formed -
(i) To maintain electrical clearance.

(ii) To maintain mechanical clearance

(iii) To maintain mechanical & electrical clearance.

(iv) To provide smooth passage for pantograph.

Q10. FEaTeR H, 3NTIS FUE T HEA 31 G AR & ofrer 3 gl A g ST g -

(i) JeIRIgoT (ii) 3TTas AT

(iii) SearFsieq (iv) TIR

Axial distance between catenary & contact wire at the OHE support, in vertical plane is called
(i) Implantation (ii) Gradient of OHE

(iii) Encumbrance (iv) Stagger
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Q11. THY YT H, 3NTTS U R ATHAY Tehlosid FAT g -
(i) 1.9 HeT (i) 1.4 HeX (iii) 0 .9 HrexX (iv) 2.0 #HreX

In AC traction, normal encumbrance at OHE support is -
(i)1.9m (ii)1.4m (iii)0.9m (iv) 2.0 m

Q12. THY EFUA H, 72 HreX TA FI a8 F fohcdal 3T & -
(i) 9 droppers (ii) 10 droppers (iii) 8 droppers (iv) 12 droppers

In AC traction , how many droppers are their in 72 m span length
(i) 9 Droppers (ii) 10 Droppers (iii) 8 Droppers (iv) 12 Droppers

Q13. e HsFeX & foa f&erer ¢ & T 3Nvas gfaerar #ar g

(i) 0.41 / 700 37137 / Tohadt (i) 0.43 / 700 311eT / ThalT
(iii) 0.48 / 700 311eT / foraiT (iv) 0.24 / 700 311eT / ToraiT
What will be the OHE impedance for single track without return conductor ?
(i) 0.41/ 700 ohm/km (i) 0.43/ 700 ohm/km

(iii) 0.48/ 700 ohm/km (iv) 0.24/ 700 ohm/km

Q14. THT He{T AR FI ATAI; F4T ¢ -
(i) sfAzs arer (ii) BYYOTT TS (iii) BTS ST PIR (iv) PTET

Material of AC catenary wire is

(i) Cadmium copper (ii) Annealed copper (iii) Hard drawn copper  (iv) Bronze

Q15. THY el R T Rt IR T3 hT T&IT FAT g -

(i) 3T 3R 19 38 (i) 2 A 3R 19 ¥3d
(iii) 2 R 3R 37 &5a (iv) 3 R 3R 37 &za

No. of layers & strands of AC catenary wire is -

(i) 3 layer & 19 strands (ii) 2 layer & 19 strands
(iii) 2 layer & 37 strands (iv) 3 layer & 37 strands

Q16. THY FE) IR FHI g YT TRATFATE -
(i) 107 F37 fA#T (ii) 98 T fAAY (iiii) 65 T AT (iv) 61 T A=Y

Cross section area of AC catenary wire is
(i) 107 sg mm (ii) 98 sq mm (iii) 65 sg mm (iv) 61 sg mm
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Ql7. 107 I3 fAH aR 1 [HeT (Fe3H) R FATE -
(i) 8.93 f&=T (i) 8.34 TAHT (iii) 8.25 TAHT (iv) 8.89 THT

Condemning size (Dia) of 107 sqg mm wire is -
(i) 8.93 mm (ii) 8.34 mm (iii) 8.25 mm (iv) 8.89 mm

Q18. YeIITE 3767 A HYF dX & [ITATIS T AT gl SATAT & -

(i) SFCATERAT (ii) T9h dR T TEIR

(iii) Fh T T STeT (iv) ETeT

The displacement of contact wire with respect to the pantograph axis is called -
(i) Implantation (ii) Stagger of contact wire
(iii) Gradient of contact wire (iv) Sag

Q19. THIFHIUTH, GAEER g T HIH AR T HThcId TR FATE -
(i) 380 T&#YT (i) 300 TR=Y (iii) 229 TAHT  (iv) 200 f&=Y

In AC traction, maximum stagger of contact wire on curved track is -
(i)380mm  (ii) 300 mm (iii) 229 mm (iv) 200 mm

Q20. @Sl Rl o Hesh H o1 ITelc &2
(i) T8 Th SolFcIhidghe Rel gl
(ii) TE AR GIST & TIABIAR hl FI&T AT & |
(iii) 3 TaTToId el & TolT 3T o TG ST ATTTShT BldT &
(iv) TE 9 & 3R Fhordex & & g FRaa gl
What is incorrect in context of Buchholtz Relay?
(i) It is an electromechanical relay.
(i) It protects transformer from internal faults.

(iii) It requires collection of gas to operate
(iv) It is situated between bell tank and conservator tank.

Q21. fafaaf@a 3Nvas &, 0 AT e Fgl Uer fhaT AT 872

(i) CRIeT ol hr a3 A (ii) AT Y T TREHIOT H
(i) CAT AT F AT H (iv) SIRIFT T

In regulated OHE, Where anti-creep point is provided?

(i) Starting of tension length (i) Finishing of tension length
(iii) Midway of tension length (iv) All of the above

Q22. THY YT &, feTgedelc 3Naleld H &l HITTg & H5eFel & i ettt gl T STl & -
(i) 500 T&T. (i) 380 f&.#T. (iii) 300 T&.5. (iv) 200 T .#T.

In AC traction, how much distance between two OHE’s conductor in insulated overlap is kept -
(i) 500 mm (ii) 380 mm (iii) 300 mm (iv) 200 mm
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Q23. €9 dR H qd He1 1 R_fFafad siveas 7 4t e s g -
(i) TS T & 9T JeRITh H9h dR i SISt Sl 7 FAgg il &
(ii) 3TT T W IgR HC I
(iii) SF ATIATST TR G T a9
(iv) 3RraFd T

Pre sag in contact wire is given in regulated OHE due to -

(i) Pantograph approaching mid span helps to make contact wire horizontal
(ii) Improved current collection at higher speed

(iii) Avoid hogging at low temperature

(iv) All of the above

Q24. Ueh &b TR UGS Y SHGEAT, STgT TS Hsehed! & al A A1ST gl o oIT Ueh-g@ & HATAIR
TATT ST § 3R Y & fore ggor AT Ui aa &, 3l FAT gl ST & -
(i) TAHT3E (if) SIE3TET (iif) 3YeelT (iv) =g HeFleT

An arrangement of OHE over a track, where two sets of OHE conductors are run parallel to each
other for a short distance & provide smooth passage for pantograph, is called -
(i) Turnout (ii) Crossover (iii) Overlap (iv) Neutral section

Q25. 3T AR R, fhT TUTH W 3TsHol 3aTelT ST ST § -
(i) TETHY (if) THUT  (jii) I SEBFELHIEAGT  (iv) ST it

Normally, insulated overlap are employed at which location -
(i) SSP (ii) FP (iii) Booster transformer’s location  (iv) All of the above

Q26. 3T T 7 N H, ol YeFAeT T 7eATH olellS FATE -
(i) 49.5 HIeT (i) 54 HeT (i) 63 HIX (iv) 41 Hiex

What minimum neutral section length is required in overlap type neutral section ?
(i)49.5m (ii) 54 m (iii) 63 m (iv)41m

Q27. A (INTEITATR) TUTT W, To1 T3 HUh TRl HEF ollge] e AR I Tl AT 3T
Q@I SATAT & -
(i) 100 TR (ii) 50 TA#T (iii) 20 f&HT (iv) 5 FA#T

At the obligatory location, turn out contact wire is kept how much mm above from the main line
contact wire -

(i) 200 mm (ii) 50 mm (iii) 20 mm (iv) 5 mm
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Q28. 3 IUHIOT T AH TS, S T TR F &I T TN hl 30T it o [T T & 3R
AR o forT Fare AT JeTe g -

(i) JAFrHAT INATAT  (ji) FeFRI Sl (iii) Sehe IATeA  (iv) FE-FoT FHAN

Name the device, which installed in contact wire to separate two elementary section & provide
smooth passage for pantograph -
(i) Insulated overlap (ii) Section insulator (iii) Bracket Assembly (iv) Cut-in insulator

Q29. TSS & T H 37N-Thia O Fam 3ifAurT &2

(i) I3 3T-[Frs (ii) TSS 3 THUTH ${HFT ehel TS STAT
(HRIERIGIEIE (iv) Eroaey Ay wazaﬁgctgzﬁra:aﬂ
What is meant from Earth-Screen, in context of a TSS?

(i) Under Ground earth-grid (ii) Earthed fencing around TSS

(iii) A caution —board (iv) Earth wire hanging on TSS gantry

Q30. TH el Sogeley & al UTdent & el &ifcieT frenrely T g -
(i) 500 TR (i) 460 TREY (i) 320 AT (iv) 200 fRSY

What is Horizontal clearance between two runners of ac section insulator -
(i) 500 mm (ii) 460 mm (iii)) 320 mm (iv) 200 mm

Q31. THI YT H, i T STFR A el 3R Pledae arRR F 1T e [aaRkd giaré-
(i) "C" STFR (i) " SFEIT (i) "SI SEOT (iv) T SFQR

In AC traction, which jumper distribute current between catenary & contact wire -
(i) “C” Jumper (i) “F” jumper (iii) “G” jumper  (iv) “S” jumper

Q32. "G" SIFIX T 3UIIT gl fhaT SATATE -
(i) S=geICs 3T (ii) T3 AR I 3N
(iii) 37eT-B=gelCS AT, THASC AP INR  (iv) HA-FogG el JaTold
Where is “G” jumper used -

(i) Insulated overlap (ii) Turnout & Cross over
(iii) Un-insulated overlap, Turnout & Cross over (iv) Un insulated overlap

Q33.’G’ & STFI & ToIT fohdel PG FolT T ITaeIHAT BT & ?

(i)4 (ii) 8 (iii) 6 (iv) 3
How many PG clamps are required for ‘G’ jumper ?
(i)4 (ii) 8 (iii) 6 (iv) 3

Page 7 of 19



Q34.

Q35.

Q36.

Q37.

Q3s8.

Q39.

QA40.

ST T el hicallay eIl T feTHT AGT &7
(i) EESY 3737 (if) 3TESTER Felrd (iii) TET T el (iv) SriT el

Which of these is not a part of the cantilever assembly ?
(i) Steady arm (ii) Adjuster sleeve (iii) Anti wind clamp (iv) PG clamp

e AT Y FTEUT STH A forg W AT FTA &
(i) TR AR HT FATS (i) s feEdear (i) TR (iv) 3R T

The arrangement of the cantilever assembly depends upon which of these -
(i) Height of contact wire (ii) Setting distance (iii) Stagger (iv) All of the above

25 Sl THY & T wgTcTel GRI&T 1o el hT gl FAT & -
(i) 500 &Y (i) 1.0 HeX (iii) 2.0 #rex (iv) 3.0 #reX

What is Minimum working clearance for 25 kV AC -
(i) 500 mm ii)1.0m (iii) 2.0 m (iv) 3.0 m

TS foAdT 3T 3NUTS &l TFad AhcT & -

(i) gefer 3R aTfores atee s (ii) - T HaATgeh T HETROT
(iii) S $.TH.UF. (iv) STRISFT T
Lightning arrester prevents OHE from
(i) Surge & transient voltage (ii) Corrosion of —ve path conductor
(iii) Back E.M.F (iv) All of the above
Tt 0T et dhie fhad vared glar g
(i) SeFRIeT Yol sharel (ii) gEaT (iii) 2T &Y T o7 AT g ERNETEE

In AC traction return current flows through -
(i) Traction rail only (i) Earth only (iii) Either traction rail or Earth (iv) All of the above

25 hdT T 3NTIS H, Se e W H JTHT THAT FAT S -
(i) 25 hdr (i) 42 ShdT (iii) 33 ShdT (iv) 66 ShdT

In 25 kV AC OHE, what is normal capacity of Lightning Arrester
(i) 25 kV (ii) 42 kV (iii) 33 kV (iv) 66 kV

25 Shdl ETTHTH o [T wgeTcd Jal FTRIET foheleT & 3TeIeh =781 glel =1fgu -
(i) 5 37T (i) 2 3T (iii) 1 30 (iv) 0.5 38T
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Minimum earth resistance for 25 kV TSS should not be more than
(i) 5 ohm (ii) 2 ohm (iii) 1 ohm (iv) 0.5 ohm

Q41. H gL YeRIEr e fohaT ST & -

(i) GT & T3¢ I AT3ST shieh AN A TACE (EGERHMGETG
(iii) 9TeiY T sTa (iv) 3T FHY

How earth resistance is reduced -
(i) Packing of the earth pit with powder coke & soft soil (ii) Providing salt
(iii) Sprinkle water (iv) All of the above

Q42. T TSS & TABRR H ol dTIHT feiar & forw aruan= afdarFar g
(i)85°C (i) 90 ° C (iii) 100 ° C (iv) 105 ° C

What is the temperature setting for Oil Temperature tripping in transformer of a TSS -
(i)85°C (ii)90°C (i) 100 ° C (iv) 105° C

Q43. el HURT (ST TACE 7 57 F T leT T fafArse fawansii g -
(i) ST TAEET el Gl & o 3&H FoteT TSI 8
(if) ST TACET el gl & o 39X ohT 31X g1 STeldl &
(iii) ST TR @ STl &, df TAee! 7 eI fashfad g1 ot &
(iv) 39 Tefr
Black cotton (BC) soil is having which of these peculiar characteristics
(i) When the soil is wet it swells
(ii) When the soil is wet it exerts upward pressure

(iii) When the soil is dry, cracks are developed in the soil
(iv) All of the above

Q44. Fid H AT T TFSS fohelell § e 8T gl TR T -
(i) 2.9 #HeX (i) 2.21 #HeX (iii) 1.85 HeX (iv) 1.35 #reX

The embedment of mast in foundation should not be less than
()29 m (i) 2.21 m (iii) 1.85 m (iv)1.35m

Q45. T EITAT T THIT Fel o T AR W IMsis ford Sh1oT W yer fhar Srarg
(i) 10° - 20° (ii) 20° - 30° (iii) 30° - 40° (iv) 45°

At what angle is generally guy rod is provided to support anchor structure
(i) 10° - 20° (i) 20° - 30° (iii) 30° - 40° (iv) 45°

Q46. A wid o forT shshie # Hiee, I, ey &1 3 ¢ -
(i)1:1:3 (ii)1:2: 4 (iii) 1: 3: 4: (iv)1:3:6

Ratio of Cement, Sand, Ballast, in concrete for normal foundation is
(i)1:1:3 (ii)1:2:4 (iii) 1: 3: 4: (iv)1:3:6
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Q47. EIT (FeFe) 3N Eoh T ahgy TQT o ST T GJT ol & AT shgl STl § -
(i) I3 E4TT (ii) Eh JUeFRIOT (iii) STeTTCereT (iv) S FelraH

The distance between centre line of the track and the structure is called -
(i) Clear span (ii) Track separation (iii) Implantation (iv) Track clearance

Q48. TAar (3TeeraTdsh) FET T eI TARIYUT (STATCRIE) FATE -
(i) 3.0 (i) 3.2 Y (iii) 2.5 X (iv) 2.75 HeX

What is Minimum Implantation at obligatory mast -
(i)3.0m (i) 3.2 m (iii) 2.5 m (iv) 2.75 m

Q49. 9-CoT Segele I HET &Y I 3TN 4T FohdT ST & -
(i) 3NTTTS HFe ST EITAT (ii) THRIT T hea T 3R T ol THIT Fled & forw
(iii) TOTE I FAT AT~ (iv) FUIE YeFTol Sl

9-Ton insulator is used mainly -
(i) To support catenary & contact on structure (ii) Anchoring of OHE conductors
(iii) Support cross span wire (iv) Support section insulator

Q50. FHEl UIEC SHACT T STATIT T ST &2
(i) el 3TSdTeleX [Ead el &
(ii) SIAT 3TSATeleX fEaa 7 3R 33N / THE3NET & dgd AR §a10 W@ & forw
(ifi) 1T Sl A (iv) Shieeliar farmereem &
Where post insulators are used ?
(i) In Isolator switch assembly only

(ii) Both in Isolator switch & to maintain clearance under ROB/FOB
(iii) In Section insulator (iv) In Cantilever assembly

Q51. T WY T oialrs, =isrs 3R Fars Tl gl & foh 371 @ Ueh a1 Ueh @ 31TReh ARrefie fonelt oft foig
TR [E Y ITASH cTeh HleTeh IMTcrRiTel HTATHT T Soeltled I &, T W i heT STl § -
DEICIESIEGE T EGE [ (ii) 3R SIHAT FHIASAHT
(iii) 3TT3¢ STIHAT FABAHCT (iv) 3TTaR STIHUT T

A consignment has length, width & height such that one or more of these parameters infringes
standard moving dimensions at any point from start to destination, then the consignment is called
(i) Over design consignment (ii) Over dimension consignment

(iii) Out dimension consignment (iv) Over dimension coach

Q52. 3- T sclleh TehT TEIST H, T3¢ T JoleT hdell § -

(i) 400 fRar (i) 465 ToRarT (iii) 440 fRam  (iv) 665 foRarm
In 3- pulley block type ATD, the counter weight is of how much kg -
(i) 400 kg (ii) 465 kg (iii)) 440 kg (iv) 665 kg
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Q53. AT I oT9TTe o foIv 3TTS & e T TIeToT fohdT ST g -
(i) oY TR Y Hic &TAAT
(i) 9P A Y I dgeT &TH
(iii) fafea S9e 1 e agT e7Han
(iv) YT & HeAwe o GRTeT FUTfehaT ohT EUTeT
Current collection test is carried out in OHE to find out -
(i) Current carrying capacity of catenary wire
(ii) Current carrying capacity of contact wire

(iii) Current carrying capacity of different jumpers
(iv) Location of sparking during movement of pantograph

Q54. TEIET & HeFl FeHwe hi ST el & [T, HI3e Tofel Wieel & [T HleT & FofeT I JTTLGeheTl
g g -

(i) 10 kgf (i) 5 kgf (iii) 20 kgf (iv) 25 kgf

To check free movement of ATD, what weight is required for pulling counter weight -
(i) 10 kgf (i) 5 kgf (iii) 20 kgf (iv) 25 kgf

Q55. TS & foraT off Shifaa Red & Uz T ATy fohdell AsidIeh Al it arfgu?
(i) 0.5 HeX (i) 1 #rex (iii) 2 FeT (iv) 4 HeT

From any live part of the OHE, tree branches should not be nearer than ?
(i()0.5m (ii)1m (iii) 2 m (iv)4m

Q56. GTaX Sclleh & GRT, fohd TR & dTgsil ol JTTATSTTe! 3a%ed & ?
(i) SeifFgeh 838 (i) BoTel g58 (i) TIH 658 (iv) SURITFd T

During power block, which type vehicles movement is blocked in the section ?
(i) Electric hauled (ii) Diesel hauled (iii) Steam hauled (iv) All of the above

Q57. Ueh To¥sll SR e #, YTsde e fohdeh & & fiie gl &7

(i) &1 37h, HHAAR (ii) YT 37k, FHAR

(iii)) @Y 37, HiHS T F FaT (iv) YT 37h, HiHS T G

In a private number book, the private number’s are printed in the form of ?
(i) Two digits, serially (ii) Three digits, serially

(iii) Two digits, not serially (iv) Three digits, not serially

Q58. 3 i I o foig TR faeiR andatr =g, Toreey Erdiedt shr uTe seffen oiter fem?

(i) FrafY &t 3R ATATIGT Y e ciiehel 3T 3R 58 ITHUTE & &7F & arvd o foararar g
(if) oY 3771 oA et T STTeTr =T
(
(

iii) T HIH I aTel HAATAT T 317aTTE ThT ST TR o FIsTel T 3mqfct ht argTel teTT &
iv) STRYFT HafY
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Which point should be considered by the person, who returned power block to the TPC ?

(i) All men & materials have been withdrawn from the electrified equipment and its vicinity
(ii) All earthing should be removed

(iii) All working staff should be warned that the power supply is to be restored

(iv) All of the above

Q59. "YeTd ¢h o SolTdrgahdl ShITHIT" I TTUhT FIAT AT &7
(i) Yord 9eRET & IR Tl oSt i 3R AT
(i) YT TeRAT & IR 31aIES SelfFgehel UTax lSs]
(iii) ¥t (i) 3 (i)
(iv) ToTEY 31T & YR 3TTS ShITRIT

What do you mean by “Electrical Crossing of the Railway tracks” ?
(i) Underground electrical power line crossing across Railway tracks
(ii) Overhead electrical power line crossing across Railway tracks
(iii) Both (i) & {(ii)

(iv) OHE crossing across LC gate

Q60. Toehead ¢ 3N HERIH T (TTelT ShiTHaT FeT) T Shy Y@M o &1l hT Y TeheTal & e o181

gl afRT -
(i) TETISH IIAT I TS (ii) TETISH TITAT T TS + 6 HeT
(iiil) TETIS TIAT T TS + 5 HieT (iv) TETIS TIIAT T 318 + 10 HeX

The distance between the centre line of the nearest track & supporting structure (i.e. crossing
span) should not be less than -

(i) Height of supporting structure (ii) Height of supporting structure + 6 meters
(iii) Height of supporting structure + 5 meters (iv) Height of supporting structure + 10 meters

Q61. FH & TIT WAT (AIseey), 25 SHdl TH TS & T fohclal HIeT & HIc H1H = & feIw
3ARTF g2
(H1m (ii)2m (i) 3 m (iv)4m

Permit To Work (PTW) is essential for working on 25 kV AC OHE or near OHE within ...... meters ?
(H1m (ii)2m (iii)) 3 m (iv)4m

Q62. TS dhallATAT Sl TRIAT THTOT 97 fohdreh garT STy fomam SIrar g
(i) SSE / OHE (ii) AEE / TRD (iii) DEE / TRD (iv) Sr.DEE / TRD

Competency certificate to the OHE technicians are issued by whom
(i) SSE/OHE (i) AEE/TRD (iii) DEE/TRD (iv) Sr. DEE/TRD

Q63. T TSS & SHBIFR H AR dATIHTeT 3elle o Tl dTaATeT ffaraarg ?
(i)85°C (i) 90 ° C (iif) 100 ° € (iv) 105 ° C

What is the temperature setting for Winding temperature alarm in transformer of a TSS -
(i) 85°C (i) 90°C (iiif) 100°C (iv) 105°C
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Q64.  Teh TSS H 25 Sl hT o™ &8 TR T weTcTH FaTs fehcell Bleil TIFT?
(&) 3800 T&T (i) 4600 T&EYT  (iii) 5000 TAHT (iv) 5500 TAHT

What should be the Minimum height of bus bar on 25 KV side in a TSS ?
(i) 3800 mm (ii) 4600 mm  (iii) 5000 mm (iv) 5500 mm

Q65. SCADAFTHTITE -
(i) T¥aeTen fag=T 31 31T 31TAIg 0T YuTTelr
(ii) TdrdeTeh hegeX 3N 3TeT JITRTgor Jorel
(iii) TrdeTeh Tora0T AR 1egemae Jrfefags yomelr
(iv) R I AR SeT 1TRargoT Jotelr

SCADA stands for -

(i) Supervisor Control & Data Acquisition system

(ii) Supervisor Computer & Data Acquisition system
(iii) Supervisor Control & Discipline Act system

(iv) Super Computer & Data Acquisition system

Q66. Hel ATSeT eXUCT I dY.UA. GaRT fA&ad fhar Jrar & foraer 31 g2
(i) STAT (ii) S AT (iiil) 5 7N (iv) SelTTehaT AT

Main line interrupter is denoted by B.M which means ?
(i) Bus Main (ii) Breaker Main (iii) Bus Machine (iv) Blocking Main

Q67. TS oIS IMSHTCICT ad Fl 5.5 GART fel w1 [T ST & fordenT 3y 82
(i) Trererfaier aa (i) Fag AT (i) QAT ABET  (iv) g asfzar

Yard line isolator switch is denoted by S.S which means ?
(i) Sectioning Switch (ii) Switch Main (iii) Sectioning Siding  (iv) Switch Siding

Q68. 3TH IR T, & 37TTeeT 25 Shdl THY HYUT g LT H& HTH A &2
(i) HATATTR (ii) el (i) T (iv) &Y &g Hehc

Normally, two adjacent 25 kV AC traction sub stations works in ?
(i) Parallel (ii) Series (iii) Independent (iv) Cannot say

Q69.  HRCT YoTd H, e I dlecsT T TR AT % AT GIaT ?
(i) 20% (ii) 15% (iif) 10% (iv) 5%

In Indian Railways, what will be the instantaneous max. permissible % of unbalance voltage ?
(i) 20% (i) 15% (iii) 10% (iv) 5%

Q70. 3MH AR W, 3Mqfed uferdt i fSsTell Sedeet 3R TRYOT JUTTell cfiel TROT JehR T gl & 3
HToT aTeT YT 3T SR 25 kV THY Sererel He TR # orar ST § Sitfeh AereT # faidiest
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Q71.

(i) Fedeh TXOT TR HYOT X T HJ oIl Al (i) Tedeh TOT 9T HY0T $IR hY 37 felel el
(iii) 37T TorsTell 9TC &I (iv) AT 31T I e FLAT

Normally, power generation & transmission system of the supply authorities are of three phase
type & incoming supply is taken in consecutive 25 kV ac traction sub stations is of different phase
in rotation, because

(i) Balance the traction load on each phase (ii) Unbalance the traction load on each phase
(iii) Obtained maximum power (iv) Minimise voltage drop

AR W, s.pH ST scr o Rufa 7 ¢ -

(i) Feiret qIfSTeeT (i) 31T9T TYfoTereT

(iii) JTCHT-FeiraT QifTereT (iv) T8 & FIS 8T
Normally, bridging interrupters at SP are in which position

(i) Close position (ii) Open position

(iii) Semi- Closed position (iv) None of these

Q72. eI gt 9ieRTe, Sid fAfese et &, ot g6 3ifereh w1 gl =g e?

(i) 9 3N (ii) 10 3H (iii) 5 3T (iv) 2.5 305
Minimum earth resistance, when not specified, should not be more than ?
(i) 9 ohm (ii) 10 ohm (iii) 5 ohm (iv) 2.5 ohm

Q73. TEEY I (wggel Herele) TTeT & UcATdail ISt T gl FATE -

(i) 100 e 3R 500 #Hiex | (i) 2000 FHeX 31} 1000 HreX
(iii) 500 FreX 3R 250 HeX (iv) 250 e 3R 150 Hiex
What is the distance of warning boards from neutral section location -

(i) 100 m & 500 m (ii) 2000 m & 1000 m

(iii) 500 m & 250 m (iv) 250 m & 150 m

Q74. 3NTES T [aSTell 1 ITYfcT it aTel & 3T HYUT 3Tehg; & &<l TooTell T 3l fohdreh ganT

Q75.

AT HISATATE ?
(i) TEdY (i) THTEYY (iii) THUY (iv) 3TEET

The power supply between two adjacent Traction Substations feeding the OHE is separated by ?
(i) sp (ii) SSP (i) FP (iv) RCC

25 ahdl THT 9 fohdly 81 7T TG cliehed WS ol TToT hlel A Tgel, fohdrehl HodT T HTaeTehell &7
(i) I3RTH (i) THTST (iii) ShroaT (iv) TrEss

Before charging any new electrified section on 25 kv AC, who's sanction is required ?
(i) CRS (i) ML (iii) Gm (iv) PCEE
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Q76. Teh HHT I Teh ¥ H fohdel 8T T LAP YeTeT Hr St 82
(i) 30 feaT (ii) 10 f&eT (i) 20 T&aT (iv) 12 fe=T

How many days of LAP are credited in a year to an employee?
(i) 30 days (ii) 10 days (iii) 20 days (iv) 12 days

Q77. T Higell Tord SHatary f&it 1 31afer o forw ATgca sraehier i gheR g1t

(i) 135 feeT (ii) 120 f&oT (iii) 90 f&=T (iv) STH H IS TT

A female Railway employee shall be entitled to maternity leave for a period of days ?

(i) 135 days (ii) 120 days (iii) 90 days (iv) None of these
Q78. Ueh quT {e fdelst ard & forw siftrends derar HEN &7

(i) 4 (ii) 5 (iii) 6 (iv) ST T IS sTgT

Maximum validity for a full set Privilege Pass is months?

(i)4 (ii) 5 (iii) 6 (iv) None of these

Q79.  3TIRIMHeATCHe HIAETEN TR minor YeTeel HTSIITE STRY hiet o ToIT hiet & HieTeh &9 T 3TN
frar STarg?
(i) T U® -11 (if) TH UH -9 (iii) TH UH -5 (iv) A O IS &Y
Which No. of standard form is used for issuance of Minor penalty charge sheet on disciplinary

proceedings?
(i) SF-11 (ii) SF-9 (iii) SF-5 (iv) None of these

Q80.  3EdT ActeT W Peél o iftehcla oot a7 § Si EiereT foham ST FeheT 82

(i) 120 (i) 180 (iii) 190 (iv) 300
Maximum days of leave on average pay that can be accumulated is days ?
(i) 120 (i) 180 (iii) 190 (iv) 300

Q81. YT HHURT TA/DA & fAT UrH § Ife a8 3 Feareorg & fohefl T S gl
(i) 6 fopelT & 33T (ii) 8 fopedY & 3mY (i) 10 P T3 (iv) 12 frelT T 3mar

Railway servant is eligible for TA/DA if he goes kms out of his Head quarter.
(i)Beyond 6 km (ii) Beyond 8 km (iii) Beyond 10 km (iv) Beyond 12 km

Q82.  HOER & 3[dR, 38 UeTarde & fov Alefeh € 47 & ?
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(i) 42 T¢/FTdTg (ii) 48 T¢/TTATE (iii)) 45 T¢/TTATE (iv) SAH T IS 7T

As per HOER, Standard hours for Intensive employment is ?
(i)42hrs/week (i) 48 hrs/week (iii)45 hrs/week (iv)None of these

Q83. TSt urer # fohcialt sieh =T Y J1eTATeY 87
(i) 6 T (ii) 7 9T (i) AT A RS M@ (iv) IFATT S &

How many break journeys are admissible in Privilege Pass?
(i)6 nos. (ii) 7 nos. (iii)Any number En-route (iv) Not allowed

Q84.  Tofderst ara # 3reTa% 3t i 3ifeerde T fhde g2
(i) 2 (ii) 3 (iii) 4 (iv) STH H IS TaT

Maximum number of dependent permissible in privilege pass are?
(i) 2 (ii) 3 (iii) 4 (iv) None of these

Q85. fAeEe % dgd Ueh ¥l AR feAToliad & & fohdieh folv ek &2
(i) 37T HEITeTT BISe o TAIT (i) NTATH/STHTH 3 37T oot & forw arer o ferw
(iii) FSthea 13Tl & T H HIY FlA & ol (iv) SAH T IS 7T

A Railway servant under suspension is entitled to which of the following?
(i) Leave his headquater (ii) Have passes for attending PNM/IJCM
(iii) Act as defense counsel (iv) None of these

Q86. YoId HHATIRAT o folT TAXHRI/ATA IFTATC H TATHT A IFAGTe el dTel Yo Hah hr
fFfafed & @ sl @ gl & s ashdr 82
(i) TR 3MTeREAH 3aahIar (i) TR TEHS I (ili) LAP  (iv) SoT# 9§ g w1g1

Which of the following leave may be granted to a Railway Servant, who has volunteered to
donate blood in Government/Railway Hospitals for railway employees?
(i) Special Casual leave (ii) Casual leave (iii) LAP (iv) None of these

Q87. SEHSHAUNT G EIdl g al Traferst 33 ard T gl g2

(i) Tl 8 SrehX P e (i) Sherel 3THTUROT Fe

(iii) Shdel eI JqehTel (iv) shael [y faeheriaTdT 3raehrer
Privilege issued Pass are admissible when a staff ison ?

(i) Any kind of leave (ii) Only extra ordinary leave

(iii) Only study leave (iv) Only special disability leave
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Q8s.

Q89.

Q90.

Qa1.

Q92.

Q9s.

Q4.

U & HATEIH Y Feohe o ole & sich Seli hl AT el ¢ |

(i) ST 9T (if) Eeool I (ifi) Ao g (iv) gl
Break journey is not permissible in booking ticket through pass.
(i) Transfer Pass (ii) School Pass (iii) Settlement Pass (iv) All of these

SIS Ueh YoTd e aR) &l f¥olels o e d 1T ST &, wfehet sharol Teh HIHeH STATAT ST STl
g A AdeT3E®™ R AT
(i) 31T e (if) =ATeT 3T (iif) SILT (iv) 319 { IS 6T

When a Railway Employee is placed under suspension but only a minor penalty is imposed, then
the suspension period is treated as
(i) Dies non (i) Non duty (iii)Duty (iv) None of these

Teh Hfgell Teld HAAY feit shr 31afer & ToT ATed 3rdehrer T geheR gam?

(i) 135 f&eT (ii) 120 f&=T (i) 90 f&=T (iv) ST H IS TaT
A female Railway employee shall be entitled to maternity leave for a period of _ days ?
(i) 135 days (ii) 120 days (iii) 90 days (iv) None of these
Teh haT IR T Ueh IV & HLAP & fohdet f&eT STAT fohT ST &2

(i) 30 f&T (ii) 10 f&=T (iii) 20 f&=T (iv) 12 f&aT

How many days of HLAP are credited in a year to an employee?
(i) 30 days (ii) 10 days (iii) 20 days (iv) 12 days

T 3rarehrer forg 3rafer & o feam ST dehelr 872
(i) B8 #AQIA (ii) YT AT (iii}) T FHgleT (iv) 15 feeT

Within which period, Paternity Leave can be granted?
(i) Six months (ii) Three months (iii) Four months (iv) 15days

gRafdd sraerer Fafafaa 7 & ford W el & -
(i) Af3har Afcfthhe (if) Teh SheTeRY T 3T T
(iii) T&TH TR &1 fade uT (iv) ST H IS T8T

Commuted leave is admissible on which of these -

(i) Medical Certificate (ii) Request of an employee
(iii) Discretion of competent authority (iv) None of these

P.T.O 3T el BI# &7

(i) T¥eYeT feehe 31T (il) THeAwe feahe TR
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Q95.

Q9e6.

Q97.

Q9s.

Q99.

(iii) TIfdoreT feshe 3T (iv) 9TH Vg feehe 3iTeT

Full form of P.T.Ois ?
(i) Personnel Ticket Order (ii) Permanent Ticket Order
(iii) Privilege Ticket Order (iv) Pass & Ticket Order

foreae & e Uar TeTh P UpR & 1 o fTaT ara 2

(i) foraTe o (ii) 3T TeTet T 31T

(iii) @¥=T (i) 3 (i) (iv) STRIFT H T HIS 78T
During suspension which type of allowance is running staff eligible for ?

(i) Subsistence allowance (ii) Average running allowance
(iii) Both (i) & (ii) (iv) None of the above

YoTd /T (31 U8 U) [ aH 54 O fohley T ARS8 gl 82
(i) 31T IR Jar3it &7 15 o TeTg (ii) ITRYTTE HeAT
(iii) 3TTeR EHS YR H dATd s s =afFa  (iv) 3T i

Railway service (D&A) Rules are not applicable to:
(i) any member of All India Services (ii) RPF personnel
(iii) any person deployed in casual employment (iv) all of the above

31 TS T ATl & TR, ST DRI 9= S i oA T # & fh 8 d1T Fehcl 82
(i) 3TeTRME=ATCH TTTereh T (ii) T&IT IRWE
(iif) SECTeTehct JTTRIehRY (iv) T8 31T AT T TN TSI 7ot h Tehall

As per D&A Rules, Inquiry Officer can delegate his functions to which of the following ?
(i) Disciplinary authority (ii) Defence counsil
(iii) Presenting officer (iv) He cannot delegate his functions

B1FZ GEULAT T 312 STRY et o [oIT ShleT T AT Bie hT STV HlelT ITI2Th §?
(i) THU® -1 (i) TH U -2 (iiil) TH U® -3 (iv) THU® -4

Which of the standard form is required to be used for issuing the order of deemed suspension?
(i) SF-1 (ii) SF-2 (iii) SF-3 (iv) SF-4

ITIRITHATCH HIYATE TR AR UeTod! AToTRiE STRY &t o [oTT hleT & HeTeh & o1 Trar
T ST 82
(i) TH U® -11 (ii) TH UH -9 (iii) TH UH -5 (iv) A O IS &Y

Which No. of standard form is used for issuance of Major penalty charge sheet on disciplinary
proceedings?
(i) SF-11 (ii) SF-9 (iii) SF-5 (iv) None of these
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Q100. GRFE NS FHITFCHAET I & T farclsll QaT (FIsTa#) HTETFH § ?
(i) 20 a§ (i) 25 a§ (ii) 15 a§ (iv) 33 9%

How much Service (minimum) is required for Post Retired Complimentary Pass ?
(i) 20 years (i) 25 years (iii) 15 years (iv) 33 years

Q101  HiqUTe & fohet 3eTeeie; & AT TEET T TSTHINT & &9 A Eoll YeT=T foham IT g ?
(i). 37eT=0C 348 (i) (ii) 37T 346 (i) (iii) 31eTeee 343 (i) (iv) 3TeTeae 345 (i)

Qloz.mmﬁmaﬁrwm)wﬂmﬁg@?
(i) 2631960 (i) 26 ST 1965 (i) 26 STeTaAT 1970 (iv) 26 STeTaxr 1975

Q103. 32T "EeT feaw" gT are v a1 &l HATIT SATAT 87

(i) 10 STeTady (i) 14 RAdsT (iii) 2 37eFgaT (iv) 3 feasx
Q104. TR EEFY forha A #H IR fohT ST 82

(i) STIHT & - Teh gfer 31ASH & 91 Ueh Uierd fgdr (ii) 81T $TST

(iii) STAHTN & - Teh g T@ET & o1 Ueh g 313l (iv) SoTH H IS T8T
Q105. HErT B afafa & sregar i &2

RCIGEE] (ii) BT (OREGEE (iv) T&TTHAT
Q106. ITSTHTYT ST AT HIIH hied-HT HATTT AR AT & ?

(i) FUTTHN FHIT (i) IE AT (ifi) o=t HATST (iv) T&TT HATTT

Q107. TTHTT T T AT H ol THT & Tt Gesa &?
(i) 5 (ii) 10 (iii) 15 (iv) 20

Q108. TTHTYT HRT=aTT GATT FT Sah! 1 3mafSerarFarg ?

(i) 1FAET HTH AR (ii) 2 FE H Th IR
(iii) 3 FAGIT H Th aR (iv) 6 FAGIT H Teh IR
Q109. TSTHTST flT# & ITTAR, IeHTe g fAepleR edd fohdt &7 & 37Ter g 2
(i) ‘& & (i) '@ 8T (iii) 'IT & (iv) SORYFT H A IS 7T
Q110. 38 A FleT AT T ToT T '@ &7 A Fafipei g 2 -
(i) oeTET (ii) oSy (iii) TSNS (iv) SURYFT H A PG 7T
X X HHATCT / End X X
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